On centralizing automorphisms and Jordan left derivations on σ -prime gamma rings

Kalyan Kumar Dey^* , Akhil Chandra Paul † and Bijan Davvaz ‡

Abstract

Let M be a 2-torsion free σ -prime Γ -ring and U be a non-zero σ -square closed Lie ideal of M. If $T: M \to M$ is an automorphism on U such that $T \neq 1$ and $T\sigma = \sigma T$ on U, then we prove that $U \subseteq Z(M)$. We also study the additive maps $d: M \to M$ such that $d(u\alpha u) = 2u\alpha d(u)$, where $u \in U$ and $\alpha \in \Gamma$, and show that $d(u\alpha v) = u\alpha d(v) + v\alpha d(u)$, for all $u, v \in U$ and $\alpha \in \Gamma$.

2000 AMS Classification: 16W10, 16W25, 16W20, 16U80.

Keywords: σ -prime Γ -ring, centralizing automorphisms, Lie ideals, left derivations, Jordan left derivations.

Received 24/11/2013 : Accepted 28/01/2014 Doi : 10.15672/HJMS.2015449098

1. Introduction

The notion of a Γ -ring was first introduced by Nobusawa [8] as a generalization of a classical ring and afterwards Barnes [2] improved the concepts of Nabusawa's Γ -ring and developed the more general Γ -ring in which all the classical rings are contained in this Γ -ring. Throughout this paper, we consider M as a Γ -ring in the sense of Barnes [2] and we denote the center of M by Z(M). In [3], Ceven proved that every Jordan left derivation on a completely prime Γ -ring is a left derivation. Halder and Paul [5] extended this result in a Lie ideal of a Γ -ring. In Γ -rings, Paul and Uddin [13, 14] studied the Lie and Jordan structures and developed a few number of significant results made by Herstien [6] in Γ -rings. In [15] Paul and Uddin initiated the involution mapping in Γ -rings and studied characterizations of simple Γ -rings by means of involution. In [4], Halder and Paul studied the commutativity properties of σ -prime Γ -rings with a non-zero derivation. Hoque and Paul [7] studied on centralizers of semiprime Γ -rings and proved

^{*}Department of Mathematics, Rajshahi University, Rajshahi-6205, Bangladesh. Email: kkdmath@yahoo.com

[†]Department of Mathematics, Rajshahi University, Rajshahi-6205, Bangladesh. Email:acpaulrubd_math@yahoo.com

[‡]Department of Mathematics, Yazd University, Yazd, Iran.

Emails:davvaz@yazd.ac.ir, bdavvaz@yahoo.com

that every Jordan left centralizer on M is a left centralizer on M if M is a 2-torsion free semiprime Γ -ring. They also proved that every Jordan centralizer of a 2-torsion free semiprime Γ -ring is a centralizer. A number of papers have been developed by Oukhtite and Salhi [10, 11, 12] on σ -prime rings made characterizations of σ -prime rings by means of Lie ideals, derivations and centralizers. By the motivation of the works of Oukhtite and Salhi we initiate to work on σ -prime Γ -rings and generalize the remarkable results of classical ring theories in Γ -ring theories. In the present paper, we work on centralizing automorphisms and Jordan left derivations on σ -prime Γ -rings. We consider M to be a 2-torsion free σ -prime Γ -ring and U to be a non-zero σ -square closed Lie ideal of M. If $T \neq 1$ is an automorphism on U of M which commutes with σ on U, then we show that U is central. We also prove that every Jordan left derivation on U of M is a left derivation on U of M.

2. Preliminaries and Notations

In this section, we give some definitions and preliminary results that we shall use.

2.1. Definition. Let R and Γ be two additive abelian groups. If for all $a, b, c \in R$ and $\alpha, \beta \in \Gamma$, the following conditions are satisfied:

(1) $a\alpha b \in R$,

- (2) $(a+b)\alpha c = a\alpha c + b\alpha c$, $a(\alpha+\beta)c = a\alpha c + a\beta c$, $a\alpha(b+c) = a\alpha b + a\alpha c$,
- (3) $(a\alpha b)\beta c = a\alpha(b\beta c),$

then R is called a Γ -ring in the sense of Barnes.

Throughout the paper, M will represent a Γ -ring in the sense of Barnes [2] with center Z(M). Then, M is called a 2-torsion free if 2a = 0 with $a \in M$, then a = 0. As usual the commutator $a\alpha b - b\alpha a$ of a and b with respect to α will be denoted by $[a, b]_{\alpha}$. We make the basic commutator identities

$$[a\alpha b, c]_{\beta} = [a, c]_{\beta}\alpha b + a[\alpha, \beta]_{c}b + a\alpha[b, c]_{\beta}, [a, b\alpha c]_{\beta} = [a, b]_{\beta}\alpha c + b[\alpha, \beta]_{a}c + b\alpha[a, c]_{\beta},$$

for all $a, b, c \in M$ and $\alpha, \beta \in \Gamma$. Let us assume the condition

(2.1) $a\alpha b\beta c = a\beta b\alpha c$, for all $a, b, c \in M$ and $\alpha, \beta \in \Gamma$.

According to the condition (2.1), the above two identities reduce to

$$[a\alpha b, c]_{\beta} = [a, c]_{\beta}\alpha b + a\alpha [b, c]_{\beta}, [a, b\alpha c]_{\beta} = [a, b]_{\beta}\alpha c + b\alpha [a, c]_{\beta},$$

for all $a, b, c \in M$ and $\alpha, \beta \in \Gamma$, which are used extensively in our paper. An additive mapping satisfying $\sigma : M \to M$ is called an involution on M if $\sigma(a+b) = \sigma(a) + \sigma(b)$, $\sigma(a\alpha b) = \sigma(b)\alpha\sigma(a)$, and $\sigma(\sigma(a)) = a$ are satisfied for all $a, b \in M$ and $\alpha \in \Gamma$. Given an involutorial Γ -ring M with an involution σ , we define $Sa_{\sigma}(M) = \{m \in M : \sigma(m) = \pm m\}$, which are known as symmetric and skew symmetric elements of M. Recall that M is σ -prime if

(2.2)
$$a\Gamma M\Gamma b = a\Gamma M\Gamma \sigma(b) = 0$$

implies that a = 0 or b = 0. It is clear that every prime Γ -ring having an involution is a σ -prime Γ -ring but the converse is in general not true. An additive subgroup U is called a Lie ideal if $[u, m]_{\alpha} \in U$, for all $u \in U$, $m \in M$ and $\alpha \in \Gamma$. A Lie ideal U of M is called a σ -Lie ideal, if $\sigma(U) = U$. If U is a σ -Lie ideal of M such that $u\alpha u \in U$, for all $u \in U$ and $\alpha \in \Gamma$, then U is said to be a σ -square closed Lie ideal of M. For $u, v \in U$, $\alpha \in \Gamma$,

$$(u\alpha v + v\alpha u) = (u+v)\alpha(u+v) - (u\alpha u + v\alpha v)$$

and so $u\alpha v + v\alpha u \in U$. Also, we have $u\alpha v - v\alpha u \in U$. Moreover, from these two relations we obtain $2u\alpha v \in U$. This remark will be freely used in the whole paper. An additive mapping $T: M \to M$ is called centralizing on a subset A of M if $[a, T(a)]_{\alpha} \subseteq Z(M)$, for every $a \in A, \alpha \in \Gamma$. In particular, if T satisfies $[a, T(a)]_{\alpha} = 0$, for all $a \in A, \alpha \in \Gamma$, then T is called commuting on A. An additive mapping $d: M \to M$ is said to be a left derivation if $d(a\alpha b) = a\alpha d(b) + b\alpha d(a)$, for all $a, b \in M, \alpha \in \Gamma$. And $d: M \to M$ is said to be a Jordan left derivation if $d(a\alpha a) = 2a\alpha d(a)$ is satisfied for all $a, b \in M, \alpha \in \Gamma$. It is clear that every left derivation is a Jordan left derivation, but the converse need not be true in general.

3. Centralizing automorphisms on σ -square closed Lie ideals

Let M be a 2-torsion free σ -prime Γ -ring and U be a Lie ideal of M such that $U \not\subset Z(M)$. In [5], Halder and Paul proved a lemma (Lemma 2.2) that if $a, b \in M$ such that $a\alpha U\beta b = a\alpha U\beta \sigma(b) = 0$, for all $\alpha, \beta \in \Gamma$, then a = 0 or b = 0. This lemma is the key of the intensive study of the relationship between several maps (especially derivations and automorphisms) and Lie ideals of σ -prime Γ -rings and by this lemma many results can be extended to σ -prime Γ -rings. In this section, we are primarily interested in centralizing automorphisms on Lie ideals. This lemma will also play an important role in the last section of the present paper. The proof of the following lemma is similar to the proof of Lemma 1.5 in [9]. We give the proof for the sake of completeness.

3.1. Lemma. Let $U \neq 0$ be a σ -ideal of a 2-torsion free σ -prime Γ -ring M satisfying the condition (2.1). If $[U, U]_{\Gamma} = 0$, then $U \subseteq Z(M)$.

Proof. Let $u \in U \cap Sa_{\sigma}(M)$. From $[U, U]_{\Gamma} = 0$, it follows that $[u, [u, m]_{\alpha}]_{\alpha} = 0$, for all $x \in M$, $\alpha \in \Gamma$. Let $d_u(x) = [u, x]_{\alpha}$, for all $x \in M$ and $\alpha \in \Gamma$. Then, d_u is a derivation and by the condition (2.1), $d_u(d_u(x)) = [u, [u, x]_{\alpha}]_{\alpha} = 0$. Hence, $d_u^2(x) = 0$, for all $x \in M$. Now, replacing x by $x\beta y$, we have

$$0 = d_u d_u(x\beta y)$$

= $d_u (d_u(x)\beta y + x\beta d_u(y))$
= $d_u^2(x)\beta y + d_u(x)\beta d_u(y) + d_u(x)\beta d_u(y) + x\beta d_u^2(y)$
= $2d_u(x)\beta d_u(y)$.

Since M is 2-torsion free, we have

 $(3.1) \qquad d_u(x)\beta d_u(y) = 0.$

For every $z \in M$ we replace x by $x\gamma z$ in (3.1), we obtain

$$0 = d_u(x\gamma z)\beta d_u(y) = d_u(x)\gamma z\beta d_u(y) + x\gamma d_u(z)\beta d_u(y) = d_u(x)\gamma z\beta d_u(y),$$

for all $x, y, z \in M$, $\beta, \gamma \in \Gamma$. That is $d_u(x)\gamma M\beta d_u(y) = 0$, for all $x, y, z \in M$, $\beta, \gamma \in \Gamma$. As $d_u\sigma = \pm \sigma d_u$, then $d_u(x)\Gamma M\Gamma d_u(y) = 0 = \sigma(d_u(x))\Gamma M\Gamma d_u(y)$. Since M is σ -prime, $d_u = 0$ and hence $[u, x]_{\alpha} = 0$, i.e., $u \in Z(M)$. Therefore, $U \cap Sa_{\sigma}(M) \subseteq Z(M)$. Let $u \in U$, as $u + \sigma(u)$ and $u - \sigma(u)$ are in $U \cap Sa_{\sigma}(M)$. Therefore, $u + \sigma(u)$ and $u - \sigma(u)$ are in Z(M), so that $2u \in Z(M)$. Consequently, u in Z(M) proving that $U \subseteq Z(M)$. \Box

3.2. Lemma. ([3], Lemma 2.2). If $U \not\subset Z(M)$ is a Lie ideal of a 2-torsion free σ -prime Γ -ring M satisfying the condition (2.1) and $a, b \in M$ such that $a\alpha U\beta b = a\alpha U\beta \sigma(b) = 0$, for all $\alpha, \beta \in \Gamma$, then a = 0 or b = 0.

3.3. Lemma. Let U be a σ -square closed Lie ideal of a 2-torsion free σ -prime Γ -ring satisfying the condition (2.1) having a non-trivial automorphism T centralizing on U and commuting with σ on U. If u in $U \cap Sa_{\sigma}(M)$ is such that $T(u) \neq u$, then $u \in Z(M)$.

Proof. If $U \subseteq Z(M)$, then $u \in Z(M)$. So, let $U \not\subset Z(M)$. Then, by Lemma 3.1, $[U,U]_{\Gamma} \neq 0$. Since $[u, T(u)]_{\alpha} \in Z(M)$, after linearization of it, we obtain $[u, T(v)]_{\alpha} + [v, T(u)]_{\alpha} \in Z(M)$, for all $u, v \in U, \alpha \in \Gamma$. In particular, we have $[u, T(u\beta u)]_{\alpha} + [u\beta u, T(u)]_{\alpha} \in Z(M)$. Hence,

$$\begin{split} & [u, T(u)\beta T(u)]_{\alpha} + [u\beta u, T(u)]_{\alpha} \\ &= T(u)\beta [u, T(u)]_{\alpha} + [u, T(u)]_{\alpha}\beta T(u) + u\beta [u, T(u)]_{\alpha} + [u, T(u)]_{\alpha}\beta u \\ &= T(u)\beta [u, T(u)]_{\alpha} + T(u)\beta [u, T(u)]_{\alpha} + u\beta [u, T(u)]_{\alpha} + u\beta [u, T(u)]_{\alpha} \\ &= 2(u + T(u))\beta [u, T(u)]_{\alpha} \in Z(M). \end{split}$$

Since M is 2-torsion free, we obtain $(u + T(u))\beta[u, T(u)]_{\alpha} \in Z(M)$. Hence,

$$0 = [u, (u + T(u))\beta[u, T(u)]_{\alpha}]_{\alpha} = [u, T(u)]_{\alpha}\beta[u, T(u)]_{\alpha},$$

since $[u, T(u)]_{\alpha} \in Z(M)$. Thus, $[u, T(u)]_{\alpha} = 0$, for all $u \in U$ and $\alpha \in \Gamma$. Again, linearizing this equality, we obtain

(3.2)
$$[u, T(v)]_{\alpha} = [T(u), v]_{\alpha}$$

Let $u \in U \cap Sa_{\sigma}(M)$ with $T(u) \neq u$. By replacing v by $2u\beta v$ in (3.2) we obtain $0 = (u - T(u))\beta[T(u), v]_{\alpha}$, for all $v \in U$. By putting $2w\gamma v$ instead of v, we obtain $(u - T(u))\beta w\gamma[T(u), v]_{\alpha} = 0$, for all $w \in U$ and $\gamma \in \Gamma$. This shows that $(u - T(u))\Gamma U\Gamma[T(u), v]_{\alpha} = 0$. Therefore,

$$(u - T(u))\Gamma U\Gamma[T(u), v]_{\alpha} = (u - T(u))\Gamma U\Gamma \sigma([T(u), v]_{\alpha}) = 0,$$

for all $v \in U$. Since $T(u) \neq u$, by Lemma 3.2, $[T(u), v]_{\alpha} = 0$, for all $v \in U$. Hence, for all $m \in M$, $[T(u), [v, m]_{\beta}]_{\alpha} = 0$, and so $[T(u), m\beta v]_{\alpha} = [T(u), v\beta m]_{\alpha}$. Thus, $[T(u), m]_{\alpha}\beta v = v\beta[T(u), m]_{\alpha}$, for all $m \in M$ and $\beta \in \Gamma$. Replacing m by $m\gamma u$, where $u \in U$, we find that $[T(u), m]_{\alpha}\gamma u\beta v = v\beta[T(u), m]_{\alpha}\gamma u = [T(u), m]_{\alpha}\beta v\gamma u$. Now, by using (2.1), we obtain $[T(u), m]_{\alpha}\gamma[u, v]_{\beta} = 0$. This implies that $[T(u), m]_{\alpha}\delta y\gamma[u, v]_{\beta} = 0$, for all $y \in M$ and $\delta \in \Gamma$. Hence, $[T(u), m]_{\alpha}\delta M\gamma[U, U]_{\beta} = 0$. Since $\sigma(U) = U$,

$$[T(u), m]_{\alpha} \delta M \gamma [U, U]_{\Gamma} = 0 = [T(u), m]_{\alpha} \delta M \gamma \sigma ([U, U]_{\Gamma}).$$

Since $[U,U]_{\Gamma} \neq 0$, the σ -primeness of M yields $[T(u),m]_{\alpha} = 0$. This gives that $T(u) \in Z(M)$. As T is an automorphism, it then follows that $u \in Z(M)$.

Now, we have in position to prove the main result.

3.4. Theorem. Let M be a 2-torsion free σ -prime Γ -ring satisfying the condition (2.1). Let $T: M \to M$ be an automorphism centralizing on a σ -square closed Lie ideal U of M such that $T \neq 1$ and $T\sigma = \sigma T$ on U. Then, $U \subseteq Z(M)$.

Proof. If $[U, U]_{\Gamma} = 0$, then $U \subseteq Z(M)$ by Lemma 3.1. So, let us assume that $[U, U]_{\Gamma} \neq 0$. If T is the identity on U, then for all $m \in M$, $u \in U$, $\alpha \in \Gamma$,

(3.3) $T([m, u]_{\alpha}) = [m, u]_{\alpha} = [T(m), u]_{\alpha}.$

Replacing m by $m\beta v$ in (3.3), for $v \in U$ and $\beta \in \Gamma$, we obtain,

$$\begin{split} & [m\beta v, u]_{\alpha} = [T(m\beta v), u]_{\alpha} \\ \Rightarrow & m\beta [v, u]_{\alpha} + [m, u]_{\alpha}\beta v = [T(m)\beta T(v), u]_{\alpha} \\ \Rightarrow & m\beta [v, u]_{\alpha} + [m, u]_{\alpha}\beta v = T(m)\beta [T(v), u]_{\alpha} + [T(m), u]_{\alpha}\beta T(v) \\ \Rightarrow & m\beta [v, u]_{\alpha} + [m, u]_{\alpha}\beta v = T(m)\beta [v, u]_{\alpha} + [m, u]_{\alpha}\beta v \end{split}$$

(3.4) $m\beta[v,u]_{\alpha} = T(m)\beta[v,u]_{\alpha}.$

For any $y \in M$ and $\gamma \in \Gamma$, we write $m\gamma y$ instead of m in (3.4), we obtain $m\gamma y\beta[v, u]_{\alpha} = T(m)\gamma T(y)\beta[v, u]_{\alpha}$ which implies that $m\gamma y\beta[v, u]_{\alpha} = T(m)\gamma y\beta[v, u]_{\alpha}$. Thus, $(T(m) - m)\gamma y\beta[v, u]_{\alpha} = 0$ for all $u, v \in U, m \in M$ and $\alpha, \beta, \gamma \in \Gamma$. Since $\sigma(U) = U$, we obtain

$$(T(m) - m)\gamma M\beta[v, u]_{\alpha} = 0 = (T(m) - m)\gamma M\beta\sigma([v, u]_{\alpha})$$

By the fact that $[U,U]_{\Gamma} \neq 0$, it yields that T(m) - m = 0, for all $m \in M$, which is impossible. So, T is non-trivial on U. By the 2-torsion freeness of M, T is also nontrivial on $U \cap Sa_{\sigma}(M)$. Therefore, there is an element u in $U \cap Sa_{\sigma}(M)$ such that $u \neq T(u)$ and $u \in Z(M)$ by Lemma 3.3. Let $v \neq 0$ be in $U \cap Sa_{\sigma}(M)$ and not be in Z(M). Again in view of Lemma 3.3, we conclude that T(v) = v. But we have $T(u\alpha v) = T(u)\alpha v = u\alpha v$, so that $(T(u) - u)\alpha v = 0$. Since $v \in Sa_{\sigma}(M) \cap U$, it yields that $(T(u) - u)\beta m\alpha v = (T(u) - u)\beta\alpha\sigma(v) = 0$, for all $m \in M$, $\beta \in \Gamma$. Since M is σ -prime and $T(u) \neq u$, we obtain that v = 0, a contradiction. Therefore, for all v in $U \cap Sa_{\sigma}(M)$, v must be in Z(M). Now, let $u \in U$, the fact that $u - \sigma(u)$ and $u + \sigma(u)$ are in $U \cap Sa_{\sigma}(M)$ gives that both $u - \sigma(u)$ and $u + \sigma(u)$ are in Z(M) and therefore $2u \in Z(M)$. Consequently, $u \in Z(M)$ which proves $U \subseteq Z(M)$.

4. Jordan left derivations on σ -square closed Lie ideals

In this section M will always denote a 2-torsion free σ -prime Γ -ring satisfying the condition (2.1) and U a σ -square closed Lie ideal of M. For proving the main result, we first state a few known results which will be used in subsequent discussion.

4.1. Lemma. ([5], Lemma 3) Let M be a 2-torsion free Γ -ring and let U be a Lie ideal of M such that $u\alpha u \in U$, for all $u \in U$ and $\alpha \in \Gamma$. If $d : M \to M$ is an additive mapping satisfying $d(u\alpha u) = 2u\alpha d(u)$, for all $u \in U$, $\alpha \in \Gamma$ and M satisfies the condition (2.1), then

- (1) $d(u\alpha v + v\alpha u) = 2u\alpha d(v) + 2v\alpha d(u),$
- (2) $d(u\alpha v\beta u) = u\alpha u\beta d(v) + 3u\alpha v\beta d(u) v\alpha u\beta d(u),$
- (3) $d(u\alpha v\beta w + w\alpha v\beta u) = (u\alpha w + w\alpha u)\beta d(v) + 3u\alpha v\beta d(w) + 3w\alpha v\beta d(u) v\alpha u\beta d(w) v\alpha w\beta d(u),$
- (4) $[u, v]_{\alpha} \gamma u \beta d(u) = u \gamma [u, v]_{\alpha} \beta d(u),$
- (5) $[u,v]_{\alpha}(d(u\alpha v) u\alpha d(v) v\alpha d(u)) = 0,$

for all $u, v, w \in U$ and $\alpha, \beta \in \Gamma$.

4.2. Lemma. ([5], Lemma 4). Let M be a 2-torsion free Γ -ring satisfying the condition (2.1) and let U be a Lie ideal of M such that $u\alpha u \in U$, for all $u \in U$ and $\alpha \in \Gamma$. If $d: M \to M$ is an additive mapping satisfying $d(u\alpha u) = 2u\alpha d(u)$, for all $u \in U$, then

- (1) $[u,v]_{\alpha}\beta d([u,v]_{\alpha}) = 0,$
- (2) $(u\alpha u\alpha v 2u\alpha v\alpha u + v\alpha u\beta u)\beta d(v) = 0,$

for all $u, v \in U$ and $\alpha, \beta \in \Gamma$.

Now, similar to the proof of Theorem in [1] and Theorem 1.6 in [9], the main result of this section is given as follows:

4.3. Theorem. Let M be a 2-torsion free σ -prime Γ -ring satisfying the condition (2.1) and let U be a σ -square closed Lie ideal of M. If $d: M \to M$ is an additive mapping which satisfies $d(u\alpha u) = 2u\alpha d(u)$, for all $u \in U$ and $\alpha \in \Gamma$, then $d(u\alpha v) = u\alpha d(v) + v\alpha d(u)$, for all $u, v \in U$ and $\alpha, \beta \in \Gamma$.

Thus,

Proof. Let $[U,U]_{\Gamma} = 0$. Then, we get $U \subseteq Z$ by Lemma 3.1. Using Lemma 4.1, we obtain that $d(u\alpha v + v\alpha u) = 2u\alpha d(v) + 2v\alpha d(u)$, for all $u, v \in U$. Since $u \in Z(M)$ and M is 2-torsion free, we arrive at $d(u\alpha v) = u\alpha d(v) + v\alpha d(u)$, for all $u, v \in U$. So, we suppose that $[U,U]_{\Gamma} \neq 0$. We have

(4.1) $(u\alpha u\gamma v - 2u\alpha v\gamma u + v\gamma u\alpha u)\beta d(u) = 0.$

Writing $[u, w]_{\delta}$ in place of u in (4.1), where $w \in U$ and $\delta \in \Gamma$. We obtain

 $([u,w]_{\delta}\alpha[u,w]_{\delta}\gamma v - 2[u,w]_{\delta}\alpha v\gamma[u,w]_{\delta} + v\gamma[u,w]_{\delta}\alpha[u,w]_{\delta})\beta d([u,w]_{\delta}) = 0,$

which implies that

 $\begin{aligned} &[u,w]_{\delta}\alpha[u,w]_{\delta}\gamma v\beta d([u,w]_{\delta}) - 2[u,w]_{\delta}\alpha v\gamma[u,w]_{\delta}\beta d([u,w]_{\delta}) \\ &+v\gamma[u,w]_{\delta}\alpha[u,w]_{\delta}\beta d([u,w]_{\delta}) = 0. \end{aligned}$

In view of Lemma 4.2(1), we have $[u,w]_{\delta}\alpha[u,w]_{\delta}\gamma v\beta d([u,w]_{\delta}) = 0$. This implies that $[u,w]_{\delta}\alpha[u,w]_{\delta}\gamma U\beta d([u,w]_{\delta}) = 0$, for all $u,w \in M$ and $\alpha,\beta,\gamma,\delta \in \Gamma$. Let $a,b \in Sa\sigma(M) \cap U$. We have $[a,b]_{\delta}\alpha[a,b]_{\delta}\gamma U\beta d([a,b]_{\delta}) = 0 = \sigma([a,b]_{\delta}\alpha[a,b]_{\delta})\gamma U\beta d([a,b]_{\delta})$ and by virtue of Lemma 3.2 either $[a,b]_{\delta}\alpha[a,b]_{\delta} = 0$ or $d([a,b]_{\delta}) = 0$. If $d([a,b]_{\delta}) = 0$, then by using Lemma 4.2(1) and the 2-torsion freeness of M, we have seen that $d(a\delta b) = a\delta d(b) + b\delta d(a)$, for all $\delta \in \Gamma$. Now, assume that $[a,b]_{\delta}\alpha[a,b]_{\delta} = 0$. From Lemma 4.2(2), it follows that $(u\alpha u\gamma v - 2u\alpha v\gamma u + v\gamma u\alpha u)\beta d(u) = 0$, for all $u,v \in M$ and $\alpha,\beta,\gamma \in \Gamma$. Linearizing this relation in u, we obtain

 $((u+w)\alpha(u+w)\gamma v - 2(u+w)\alpha v\gamma(u+w) + v\alpha(u+w)\gamma(u+w))\beta d(v) = 0,$

for all $u, v, w \in U$ and $\alpha, \beta, \gamma \in \Gamma$. After calculation we obtain

 $(u\alpha w\gamma v + w\alpha u\gamma v - 2u\alpha v\gamma w - 2w\alpha v\gamma u + v\alpha u\gamma w + v\alpha w\gamma u)\beta d(v) = 0,$

for all $u, v, w \in U$ and $\alpha, \beta, \gamma \in \Gamma$. Replacing v by $[a, b]_{\delta}$ and using Lemma 4.2(1), we have

 $(4.2) \qquad (-2u\alpha[a,b]_{\delta}\gamma w - 2w\alpha[a,b]_{\delta}\gamma u + [a,b]_{\delta}\alpha u\gamma w + [a,b]_{\delta}\alpha w\gamma u)\beta d([a,b]_{\delta}) = 0.$

Putting $u\mu[a, b]_{\delta}$ instead of u in (4.2), applying $[a, b]_{\delta}\alpha[a, b]_{\delta} = 0$ and Lemma 4.2(1), we obtain $[a, b]_{\delta}\alpha u\mu[a, b]_{\delta}\gamma w\beta d([a, b]_{\delta}) = 0$ by using (2.1), for all $u, w \in M$ and $\alpha, \beta, \gamma, \delta, \mu \in \Gamma$. Accordingly, $[a, b]_{\delta}\alpha u\mu[a, b]_{\delta}\gamma U\beta d([a, b]_{\delta}) = 0$, for all $u \in M$ and $\alpha, \beta, \gamma, \delta, \mu \in \Gamma$. Since $[a, b]_{\delta} \in U \cap Sa_{\sigma}(M)$ and $\sigma(U) = U$, we obtain

$$[a,b]_{\delta}\alpha u\mu[a,b]_{\delta}\gamma U\beta d([a,b]_{\delta}) = 0 = \sigma([a,b]_{\delta}\alpha u\mu[a,b]_{\delta})\gamma U\beta d([a,b]_{\delta}),$$

for all $u \in U$ and $\alpha, \beta, \gamma, \delta, \mu \in \Gamma$. By Lemma 3.2, we obtain $d([a, b]_{\delta}) = 0$ or $[a, b]_{\delta} \alpha u\mu[a, b]_{\delta} = 0$, for all $u \in U$ and $\alpha, \gamma, \delta, \mu \in \Gamma$. If $[a, b]_{\delta} \alpha u\mu[a, b]_{\delta} = 0$, then we have $[a, b]_{\delta} \alpha u\mu\sigma([a, b]_{\delta}) = 0$, since $\sigma(u) = u$ for all $u \in U$ and $[a, b]_{\delta} \in U$ for all $a, b \in U$, $\delta \in \Gamma$. Therefore, by Lemma 3.2, $[a, b]_{\delta} = 0$, which shows that $[U, U]_{\Gamma} = 0$, which is contradiction to our assumption that $[U, U]_{\Gamma} \neq 0$. So, let $d([a, b]_{\delta}) = 0$. Then, by previous arguments, we have $d(a\delta b) = a\delta d(b) + b\delta d(a)$. Therefore, in the both cases we find that

(4.3) $d(a\alpha b) = a\alpha d(b) + b\alpha d(a),$

for all $a, b \in U \cap Sa_{\sigma}(M)$ and $\alpha \in \Gamma$. Now, let us assume that $u, v \in U$, set $u_1 = u + \sigma(u)$, $u_2 = u - \sigma(u), v_1 = v + \sigma(v), v_2 = v - \sigma(v)$. Then, we have $2u = u_1 + u_2$ and $2v = v_1 + v_2$. For the fact that $u_1, u_2, v_1, v_2 \in U \cap Sa_{\sigma}(M)$, and application of (4.3) gives

$$d(2u\alpha 2v) = d((u_1 + u_2)\alpha(v_1 + v_2))$$

= $d(u_1\alpha v_1 + u_1\alpha v_2 + u_2\alpha v_1 + u_2\alpha v_2)$
= $u_1\alpha d(v_1) + v_1\alpha d(u_1) + u_1\alpha d(v_2) + v_2\alpha d(u_1) + u_2\alpha d(v_1) + v_1\alpha d(u_2)$
+ $u_2\alpha d(v_2) + v_2\alpha d(u_2)$
= $(u_1 + u_2)\alpha d(v_1 + v_2) + (v_1 + v_2)\alpha d(u_1 + u_2)$
= $2u\alpha d(2v) + 2vd(2u).$

This implies that $4d(u\alpha v) = 4(u\alpha d(v) + v\alpha d(u))$. Since *M* is 2-torsion free, we have $d(u\alpha v) = u\alpha d(v) + v\alpha d(u)$, for all $u, v \in U$ and $\alpha \in \Gamma$.

4.4. Corollary. Let M be a 2-torsion free σ -prime Γ -ring satisfying the condition (2.1). Then, every Jordan left derivation on M is a left derivation on M.

References

- M. Ashraf and N. Rehman, On Lie ideals and Jourdan left derivations of prime rings, Archivum Math., 36 (2000) 201-206.
- [2] W. E. Barnes, On the Γ-rings of Nobusawa, Pacific J. Math., 18 (1966), 411-422.
- [3] Y. Ceven, Jordan left derivations on completely prime Γ-ring, C.U. Fen-Edebiyat Fakultesi Fen Bilimlere Dergisi, 23(2), 2002, 39-43.
- [4] A. K. Halder and A. C. Paul, Commutativity of two torsion free σ-prime with nonzero derivations, Journal of Physical Sciences, 15 (2011), 27-32.
- [5] A. K. Halder and A. C. Paul, Jordan left derivations on Lie ideals of Prime Γ-rings, Panjab Univ. Journal of Math., 44 (2012), 23-29.
- [6] I. N. Herstein, Topic in ring theory, Univ. of Chicago Press, Chicago, 1969.
- [7] M. F. Hoque and A. C. Paul, On centralizers of semiprime gamma rings, Int. Math. Forum, 6(13) (2011), 627-638.
- [8] N. Nabusawa, On a generalization of the ring theory, Osaka J. Math., 1 (1964), 65-75.
- [9] L. Oukhtite, Left derivations on σ -prime rings, Int. J. Algebra, 1 (2007), 31-36.
- [10] L. Oukhtite and S. Salhi, On commutativity of σ -prime rings. Glas. Mat. Ser. III, 41(1) (2006), 57-64.
- [11] L. Oukhtite and S. Salhi, On derivations of σ-prime rings, Inter Journal of Algebra, 1(5) (2007), 241-246.
- [12] L. Oukhtite and S. Salhi, σ-prime rings with a special kind of automorphism, Int. J. Contemp. Math. Sci., 2(3) (2004), 127-133.
- [13] A. C. Paul and M. S. Uddin, Lie and Jordan structure in simple Γ-rings, Journal of Physical Sciences, 11 (2010), 77-86.
- [14] A. C. Paul and M. S. Uddin, *Lie structure in simple gamma rings*, International Journal of Pure and Applied Sciences and Technology, 4(2) (2010), 63-70.
- [15] A. C. Paul and M. S. Uddin, Simple gamma rings with involutions, IOSR Journal of Mathematics, 4(3) (2012), 40-48.